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Question Number : 1 Question Id : 5431078429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Alzheimer’s 1s the most common form of which of theze?

HeASH H H fHue g99 HAW ¥9 87

Options:



Malnutrition

|

Dementia
 Tertem

Fatigue
5 U

Psychosis

EEECCAr
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Question Number : 2 Question Id : 5431078430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A person with diabetes mellitus does not secrete

OgdE & Td ATt % IR H "Higd T@ &l 8

Options:

insulin

[

thyroxin

ym-{-rﬁ:,\q—_[” =

glucagon
B

growth hormone

Question Number : 3 Question Id : 5431078431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following i1s a hereditary disease?
9 ¥ | SE-F1 I G 87

Options:



Polio
- ﬁ =

L

Malana

H Hﬁ [.1 <]

2

Small pox

3;'~P

Colour blindness

, i s

Question Number : 4 Question Id : 5431078432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Lotus temple relates to :

ed 2He] fhed gt g7
Options:
Jainas

y, S

Parsees

Buddhists

Question Number : 5 Question Id : 5431078433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In which province i1s the Brindaban Garden located?

gy 3 fme 9§ e 27

Options:



Tamil Nadu
3

Karnataka

>

il.a i

Andhra Pradesh
.-jq T El 51 -E .3*-

Kerala

A

Question Number : 6 Question Id : 5431078434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who appoints the Chief Election Commissioner of India?

YA % Hed 9919 3 $ F4RE FF F 8 e
Options:
President

g

1.

Prime Minister

2 HD I.\,IH.

Parliament

3, 998

Chief Justice of India
, T T e AT

Question Number : 7 Question Id : 5431078435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which Prime Minister of India had the shortest tenure?

YRd < fohd TLWHEAT 1 FEHE FI09 &7

Options:



Lal Bahadur Shastn
| T W TS

V. P. Singh
. dto dio fog

Chandra Shekhar

= a.q_*ﬂ@l

I. K. Gujaral
i #AZo @hHo e

Question Number : 8 Question Id : 5431078436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Who among the following cricketers of India, has been adorned with Bharat

Ratna?

Yd & = e faenfeal © o fog wma = @ fayfva fear mm 27
Options:
Sachin Tendulkar

, T ATt

Saurav Ganguly
| i i

Kapil Dev

3

Vijay Hazare

4%13?{3:—#[

Question Number : 9 Question Id : 5431078437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



When was Konark Sun Temple built?
Options:

10th century
, 10th T

11th century

’ 11th Irdme)

12th century
, 12th mames] &

13th century
, 13th ¥ ATee)

Question Number : 10 Question Id : 5431078438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The number of Samskaras 1n Ancient India was :

UTEE WA H HERA dh HEEr off
Options:
16

12

10

Question Number : 11 Question Id : 5431078439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Who founded the Ancient Nalanda University?

(o

aT= Treel favafaesmes i A e e e

Options:




Bimbisara

| fafesEn

Harshavardhana

2 T

Shakraditya

- TERICH

Chandragupta II

, T5IH fgdE

Question Number : 12 Question Id : 5431078440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Relics of which religion are found at Ellora?

-k

- P - = A - =i
ThH 99 =R HE9ME TANT H 91 A0 &7

Options:
Hindu

E'f.'.'; T

1.

Buddhist
zZ.

Jain

EE

=

Hindu, Buddhist, Jain

4.

Question Number : 13 Question Id : 5431078441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Members of ‘BRICS’ are :

fs9 (BRICS) &+ HcH &

Options:



Brazil, Russia, India, China. South Africa

| Sfier, ®a, wrd, JH, e snh

Belarus, Russia, India, China, South Africa

, SETEH, &9, WA, 9, S ki

Brazil, Romania. India, China, South Africa

Smiwﬁm? ., 9FA, =4, T 3Tk

Brazil, Russia, India, China, Saudi Arabia

s ST, B9, 9UA, =4, HHel =

Question Number : 14 Question Id : 5431078442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Where is the Forest Research Institute located?
T I HEIH FEl q 87
Options:

Bhopal

-

HUTA

Dehradun

Delhi
2
s cE

F

Question Number : 15 Question Id : 5431078443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Where did Lord Buddha breathe his last?
WEH g 7 a9 @E wE o ?
Options:

Rajgir

g

]..,[-J '
1

Bodh Gaya
"
Z.

Sarnath

HEATYH
=,

Kushinagar

[

PN

4,

Question Number : 16 Question Id : 5431078444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

What does cause ‘Blue-Baby Syndrome’ ?
‘-l fGgm g gET Jfa el 87
Options:

Mercury poisoning

=
YT Id4Y]thdl

Chloride poisoning

FANTSS TIaTha]

Fluoride poisoning

TANES TR

Nitrate poisoning

ATece TauTehd



Question Number : 17 Question Id : 5431078445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Tooth decay i1s caused by :
= &0 W HAU BE] B

Options:

production of acid by bacteria

1%&??@@?%(_@@,"}%%

production of base by bacteria

zéaﬁﬁmgmaﬁ{émm—m ,

production of both acid and base by bacteria

Sﬁ?azfrﬁmmwnﬁemamf“waﬁm

reduced production of saliva

oW & IAed H HHI
4

Question Number : 18 Question Id : 5431078446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

‘Col’ is formed :
=T Ao = e e e o
Options:
between one low and two high air pressure areas

lﬁﬁmﬂﬂﬂéﬁﬁm#, &7 W "

between two low and two high air pressure areas

zéjﬁwa*méjﬁaﬂmd &1 % §E

between two low and one high air pressure areas

e 9 9 v 3= 9EEE 99 % 5
25 1



between one high and one low air pressure areas

U 3= a1 Uk HH aEeE &F % 5
4,

Question Number : 19 Question Id : 5431078447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The occurrence of southwest monsoon in India i1s usually between which of the
following months?

une o efeomfedi wiveg g fafefas § @ 5 ode § 2d 2 e
Options:

October to November

HagEL H AT

June to September

SE T

March to May
o= 9 T

December to February

) feamar & =

Question Number : 20 Question Id : 5431078448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following became the first and only Union Territory of India to be
100% solar energy efficient?

frafafaa § & =9 9AA 7 Y9 UF UHATE 100% HE S HUE G99 wiEd 9en
EEIN

Options:

Chandigarh

S

1.



Puducherry

zv-\i

Diu
= {E\E

Dadra and Nagar Haveli

, & Ug A Ede!

Question Number : 21 Question Id : 5431078449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Which State has recently completed the National Registration of Citizens?

fpg =9 4 B & H Py Amiss Tsies gt e 20
Options:
Arunachal Pradesh

ETE e

Assam

HYH

Nagaland

BN E

West Bengal

afvag =

Question Number : 22 Question Id : 5431078450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Who built the Charminar?

SHAT RO S99E] 917

Options:



Qutub-ud-din Aibak
FAge Uah

Sikandar Lodi

z.

Shahjahan

7 E.:"['f?[

Mohammad Quli Qutb Shah

i HEHE Foll Hed INa

Question Number : 23 Question Id : 5431078451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which Sikh Guru was executed by the Mughals?

4

Options:
Guru Hargobind

Guru Gobind Singh
z2 11_5 U ' -FHE

Guru Arjun Dev

. TH 3T od

Guru Amar Das

, T IR TE

Question Number : 24 Question Id : 5431078452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



A species of wood snake that was not seen since long has resurfaced recently
in

??_IEFTE!'T (Wood Snake) @1 U UHANG H] @9 HHT d 48] <@l T8 o & H
Options:
Lakhowa Wildlife Sanctuary, Assam

. ATEE] gS g THENE, 3EY

Meghamalai Wildlife Sanctuary, Tamil Nadu

, HETHES Fs(1a 3o, diqerTg

Rollapadu Wildlife Sanctuary, Andhra Pradesh

Krishna Wildlife Sanctuary, Andhra Pradesh

. sl TS ITENTE, AT

Question Number : 25 Question Id : 5431078453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Zomato 1s :

Options:
an online restaurant guide and firm to order food

s m + T . . r = = = r
, T AT W " T @H (§E) IR 1 TS T4 Fell B

a pharmaceutical company manufacturing antibiotic

UdtaEted w1 FE (3ared) S 9Tl UH HNY e
2.

a motor tyre manufacturing company

Swmwmmm

an App for money transfer

, T\ BETAia i a9l Uh U9



Question Number : 26 Question Id : 5431078454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The book The Third PFillar has been authored by :

T UE fUel’ 7% & o@% &
Options:

Raghuram Rajan

TEHIH 174

1.

Manmohan Singh
2.

Urjit Patel
3fsa ged

Arun Jaitly

4.

Question Number : 27 Question Id : 5431078455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

In which of the following region of India there 1s largest concentration of Iron &
Steel Industry?

UG & H=AmEd § § 68 &9 § @ Ud 3999 30 &1 HAT4had Jhgl 27
Options:

Northern region

| v

Eastern region

Southern region

Safawﬁa?ﬁ



Western region

4@?5%114’?3%?-[

Question Number : 28 Question Id : 5431078456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Mahatma Gandhi has launched his first Satyagraha in India from which among
the following places?

e MW 9 uid § g geme efafad § 8 few e 3E (omy) R ane

Options:
Kheda

1. ’

Bardolh

)

. -

Champaran

3EFI:'?I'I'-!":'T

Sabarmati

i~

4 HI=IHAT

Question Number : 29 Question Id : 5431078457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

What is the minimum age to be appointed as the Chief Minister of a State?

forell U= &1 el w9 % fou =Eaw 39 @ 27
Options:

30 years

llanaﬁ

40 years

> 40 9§



25 years

3.'.25 EE|

18 years

18 o4
4

Question Number : 30 Question Id : 5431078458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following is a blood vessel that carries blood away from the heart?

fTafafas o & ®9-81 98 &F Ffce B, 31 %63 § W B A L A 27
Options:
Vein

1 fmy (59)

Artery

AT

2.

Capillary

LR

=
Nerve
. ()
oec [T MA and Feasoning
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Section Marks: Q0
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Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5431078459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

What is the mirror image of :

™ =1 g9u H ufdige 997 'Y

b3k4s

Options:

1a#ﬂ8d
284ﬂ8d
aa#ﬂSd

4a#ﬂ3b

Question Number : 32 Question Id : 5431078460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

An accurate clock shows 8 o'clock 1in the morning. Through how many degrees
will the hour hand rotate when the clock shows 2 o'clock in the afternoon?

U HEl 9o 9 g8l § UE: 8 99 &l F9 98 gUsl % 2 §AE d1 39 954
q Tearell g fohed feuft @e g

Options:

144°
1



Question Number : 33 Question Id : 5431078461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

How much time will it take for an amount of Rs 450 to yvield Rs 81 as interest at
4-5% per annum of simple interest?

450 %o W fhad ®HT § 81 %o & =ATH HlAd wnm, dfc HERT SaTS I T 4-5%
ufd a9 &7
Options:
3:0 years
, 35 ay

4 vyears

4 a9

4-5 years

Question Number : 34 Question Id : 5431078462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Find the one which does not belong to that group?

fer # & =4 39 @ & T 27
Options:
Baseball



Wrestling

Question Number : 35 Question Id : 5431078463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In a series of 5. 10, 20, 40, ------ what will be the 10th term?

5, 10, 20, 40, - - £ Wl § 109 Sen war Sty

Options:
1280

Question Number : 36 Question Id : 5431078464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A and B can do a piece of work 1n 6 days and C in 12 days. In how many days
A, B and C will do it together?

AT BTl o8 & 6 Tedi § =i & a9 ¢ 35 &9 = 12 &0 § @ 2
A, B 3R ¢ 91 Toemrt 39 % @ foaq feai 9 007

Options:
6 days

, 6 feqr =

5 days
, 5 fer =

4 days
o4 e @



3 days
3 fear 5

4

Question Number : 37 Question Id : 5431078465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

If 4+’ is changed with -, 2 with 4, 5 is changed with “+" and 4 with 2 which of
the following i1s true?

g ‘+ H ‘+ § uiEla A AW B, 2 W 4 H, ‘+ & + H ul@laa A
ST 8 U 4 H 2 |, a9 EfaiEgd § § $F d8 87
Options:

2+4+3=3
1.

4+2+-6=1-5
2.

4+2+3=4
=

2+4+6=8
4.

Question Number : 38 Question Id : 5431078466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Find the missing number in the following :
frfafiEa 5 5 o 5= Fa7En
216, 221, 231, 246, 266, ?

Options:

289
1.

271
z.

281
>,

291



Question Number : 39 Question Id : 5431078467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Find the missing number i1n the following :
eratEa O 5 o0 561 9050,

&, Loy 1:9, 226, 45; ?

Options:

75
1

Question Number : 40 Question Id : 5431078468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Find the missing number in the following :
frefafgs 7 9 o9 9= aasy

2, 3,8, 63, 7

Options:
3963

3008
z.

1998
>,

1038

Question Number : 41 Question Id : 5431078469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



If PAINT is coded as 74128 and EXCEL is coded as 93596, then how would vou
code ACCEPT?

Ifg PAINT %1 74128 J91 Feag %31 Fa1 8 U1 EXCEL % 93596 1 a5
a1 ST 8, @8 39 ACCEPT & ®H Hedg HUl7

Options:
] 455978

0479738
z.

204973
>,

7335961
4.

Question Number : 42 Question Id : 5431078470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

If REASON 1s coded as 5 and BELIEVED as 7 what 1s the code number for
GOVERNMENT?

g9f¢ REASON &l 5 €] Hag (a1 oM@l & 31X BELIEVED @ 7 o4,
GOVERNMENT @ [0 %e T&AT #1 &l 7
Options:

6
1.

10

Sub-Section Number: 2
Sub-Section 1d: 543107153
Question Shuffling Allowed : Yes

Question Id : 5431078471 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (43 to 46)



Cuesticon Label | Comprehension

Read the information given below and answer the questions that follow :

A1 &1 AT FEA R 9€ 377 9E § 3 976l 99l T 3 ©

(a) In a family, there are six members A, B,C, D, E and F.
U% UHER § B: 9= A B, C, D, E 94T F #I

(b) C 1s sister of F.
C, F I =51 &l

(c) B is the brother of E's husband.
B. E % 9fd @1 415 £|

(d) D is the father of A and grandfather of F.
D, A 1 fuar 3R F &1 T &

(e) There are two fathers, three brothers and a mother in the family.
gyfew 4 < fuar, 9 9E vg s = £

Sub questions

Question Number : 43 Question Id : 5431078472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

How F i1s related to E?

F & EY F =4 27
Options:
Daughter

[a)

REL

1.

Husband
e

z.

Son

RE]

Uncle

Question Number : 44 Question Id : 5431078473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Who i1s E's husband?

E & 9fd & 87
Options:
A

Question Number : 45 Question Id : 5431078474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Who 1s the mother?
ol i B7
Options:

A
1.

B
z.

Question Number : 46 Question Id : 5431078475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

How many male members are there in the group?

TE § frad Y me E0
Options:

1
]



Sub-Section Number : 3
Sub-Section I1d: 543107154
Question Shuffling Allowed : Yes

Question Id : 5431078476 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (47 to 51)
Cesticn Label | Comprehension

Read the information given below and answer the questions that follow :
SRR CE AR AR I A= e 1 e [ o2 e 0 s A
P,Q, R S and T are students coming from Delhi, Lucknow, Chandigarh, Meerut

and Kanpur, not necessarily in that order. They have topped in exactly one
subject among Mathematics, English, Hindi, Science and Geography.

egl, g%, 99EnE, e a9 SHE 4 ¥H 9 P,Q, R S 741 T BF &, F&4
T8 & 9 I FW H BN F= T6ME, S0, Tewl, OEE @ gme FE s e ow
Ha TE UH e B

(a) The student who has topped in Hindi is not from Delhi.
g vm 3 5< 9 o9= = um T 2 98 fogt o 481 2
(b) The student from Kanpur has topped in Maths.

FHER H DE TG H FAE TH AH A R

(e) ©Q comes fr{:n:n T‘»‘Ieerut and S from Delhi.
Q g F 34 & WEI s ;"J,,u’" |

(d) The student from Chandigarh has not topped in Science.
SUENe ®] B G99 § #are [ 9" A8 A 2

(e) P topped in Science and T in Geography.
P 4 a3 ¥ ma= TH W a1 § 37 T+ e H)

Sub questions

Question Number : 47 Question Id : 5431078477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Who among the following students has topped in Hindi?

fafafas 0 9 =4 o3 &< 9 9= == uw fF5a 27
Options:

-
1

Q

S

Question Number : 48 Question Id : 5431078478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

From which city does the topper of English come from?
SIS § "= T YTH B dgren fhd T " 37dr 27

Options:
Delhi

i

Lucknow

[GLEEET

Chandigarh

=5

ERETRI

Meerut

S

Hid

Question Number : 49 Question Id : 5431078479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In which subject has the student from Chandigarh topped in?

FqUEnTe w1 ©F (Y favg § Hars W WH e B0

Options:



Mathematics

Geography
T

o EE

Science

fasm

4.

Question Number : 50 Question Id : 5431078480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

From which city does the topper of Science come from?

a5 o gar= =H 9TH &4 9ra] @19 e TR ° 3741 27
Options:
Lucknow

Meerut

5 HiS

Kanpur

>, »—[

Delhi
ha- o

4.

Question Number : 51 Question Id : 5431078481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

From which city does R come from?
R fFE T 9 3@T 87

Options:



Lucknow
GICEED

Chandigarh

)

HUsSTTe
Delhi

Kanpur

4. «-[

Sub-Section Number: 4
Sub-Section Id: 543107155
Question Shuffling Allowed : Yes

Question Number : 52 Question Id : 5431078482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

P.Q, Rand S are playing a game of carrom. P, Rand S, Q are partners. S is to the
right of R who is facing west. Then Q is facing :

P,OQR A4 S & WA T8 & P,R @41 S,Q ¥ERN 8| S,R % gd & &% q&
UfTeH HI AR B| 99 Q F HE ®

Options:

south

gfe

1.

east



Question Number : 53 Question Id : 5431078483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

A class of boys stands in a single line. One boy is nineteenth in order from both
the ends. How many boys are there in the clags?

ATefeh] o Ush o Ush & Uk H ©Sl 8l UH 9/ gHl Al H 3d9EE] HH W OB

o H ferad ST 27

Options:

9 2
37

>

33
o

39
4.

Question Number : 54 Question Id : 5431078484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Nitin ranks eighteen 1n a class of 49 students. What 1s his rank from the last?
49 BET & 9 H M9 & TUE SRRl B I ° 3T TIH T BT
Options:

18
1.

19
2.

31
>,

32

Sub-Section Number: 5
Sub-Section 1d: 543107156
Question Shuffling Allowed : Yes

Question Id : 5431078485 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes



Question Numbers: (55 to 56)
Juestion Label - Comprehension

Read the information given below and answer the questions that follow :

= & T = H 9% 3R 9E § 3 9Tl 9eEl I
On a playing ground Dinesh, Kunal, Nitin, Atul and Prashant are standing as
described below facing the North :

Uk ©@F ® Hed W feAm, FOmE, Hied, 3 a9 W A gl ™ fEEm ®
AT I H AN B W F TS B

(a) Kunal is 40 metres to the right of Atul.

FEA HGA 4 40 HiE g0 2

(b) Dinesh 1z 60 metres to the South of Kunal.
fgior Fme | 60 Hiex efam 2|

(c) Nitin 18 235 metres to the West of Atul.

fifm /e 9 25 e ufvaw 2

(d) Prashant is 90 metres to the North of Dinesh.
yur= fedsr & o0 Hiex I B

Sub questions

Question Number : 55 Question Id : 5431078486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Who 1s to the North-East of the person who 1s to the left of Kunal?

=] - P

39 ANE % IH-TF HH & Al HIA o @l 87

Options:
Dinesh

None of these

, T " HE



Question Number : 56 Question Id : 5431078487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If a bov walks from Nitin meets Atul followed by Kunal, Dinesh and then
Prashant, how many metres has he walked if he has travelled the straight
distance all through?

qi¢ HIZ AeAh Hiad H TRl Iqd d Hodl 8, dc9dd A, A9 Ud a9 Jen
H g8 foa die =on afe a8 piew H@idt g 5 amn 6

Options:

155 metres

, 155 Hi&

185 metres

5 185 Hiet

215 metres

3 215 HIH

245 metres

, 245 Hfet

Sub-Section Number: 6
Sub-Section 1d: 543107157
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 5431078488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

‘Oval’ 1s related to ‘circle’ in the same way as ‘rectangle’ is related to :

‘3UgEk g9 H I e FERUd B oW 3G §E-ad 8
Options:
triangle

, s



square

I H
2

periphery

Sqﬁﬁqﬁ

diagonal

foepat =

4.

Question Number : 58 Question Id : 5431078489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

‘Orange’ 1s to ‘peel’ : ‘tooth’ 1s to :

‘g1 ‘oo | . 2l
Options:
gums

luﬂ_?,wér

clone

s °
o =

enamel

-

, aaeh

joints

= d
T

Question Number : 59 Question Id : 5431078490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Suman 18 40 m South-West of Ashok. Prakash is 40 m south-east of Ashok.
Prakash i1z in which direction of Suman?

q99 3% § 40 Ho gEw-ufgaw 2| W@ F9E H 40 Hio TAT-TH B TRME
g9 & T4 fom 7 27

Options:




South

North-east

7, PN

Question Number : 60 Question Id : 5431078491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
A and B invest in a business in the ratio 3:2. If 5% of the total profit goes to

charity. If A's profit 18 Rs 8.550, then total profit 1s :

U MR H A GYT B, 3:2 % IFIE H 94 @ d Bl ARG T AH F 5% = HI
T

ATaT 81 &G A T O 8,550 ®o &, Al Hel ©lH BAN :
Options:

Rs 15,760

; 19,760 %o

Rs 15,7395
5 19,735 %0

Rs 15,000

5 15,000 %o

Rs 14,250

4 14,250 %o

Sec IIT Nurmeric Ability

Section Id : 543107120
Section Number : 3



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107158
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5431078492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Two persons can complete a piece of work in 9 days. How many more persons

are needed to complete double the work in 12 days?

Gl Ah Uk M Bl 9 fgd H T W oid &l fhad = AN g¢ fod 9@ & o
®E W 12 Ted d 0 A1 S "R
Options:

1
i

Question Number : 62 Question Id : 5431078493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A can do 5 of a work in 5 days and B can do £ of the work in 10 days. In how
many days both A and B together can do the work?

Afrft &d & L wm 5 fg % 9 B 36 ®@ %1 2 9 10 o ®§ 00 # < &
feheH Tl ® SHI A 991 B Heht, 39 %@ ® [ L o7
Options:

72
1.



00
1 |

z.
3
= qi
10

4.

Question Number : 63 Question Id : 5431078494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

If 5 men or 9 women can finish a piece of work in 19 days, 3 men and 6 women

will do the same work 1nn :

5 059 YT 9 Higau fohdl ®@ &1 19 fe7 d g0 # &d 8 3 ®@ H 3 T
ayT 6 AfEeTd et fhad fe7 & 90 &7

Options:
10 days

12 days
12 Ted

2

13 days

5 18 e

15 days
15 T

4

Question Number : 64 Question Id : 5431078495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The ratio between the speeds of two trains is 7:8. If the second train runs

400 km in 5 hours, the speed of the first train is :
T oAl W AT B AW 7:8 Bl ARG T ¢4 400 fwodio 5 WU H qm X oA
g, 1 999 9 i =TT BA

Options:



70 km/hr

70 Tepowto fovey

200 km/hr

200 TeRoHio /aver

250 km/hr

250 feRodto fauer

350 km/hr

350 femodTo /aver

Question Number : 65 Question Id : 5431078496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A train 125 m long is running at 50 km/hr. In what time will it pass a man,

running at 5 km/hr in same direction in which the train is going?

125 Hiel oral 99 50 Tehotfio /Hver & =e ¥ W W B| UH =ANE 24 i feum #
5 feRotiio /aver &1 =Tel ¥ €18 &1 &1 ¢ A @l fhad T9F § UN T S ?
Options:

5 sec
, 5 HHUE

T sec

-,

g e

10 sec
5 10 HHUE

12 =ec

412%‘3—:‘:@

Question Number : 66 Question Id : 5431078497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

A tree increases annually by £ of its height. By how much will it increase after
two vears if it stands today 64 cm height?

TH U5 Ul 99 U4 SIS k1 L WA 9 B S B W@ 2| TR gl ani H e

8
S B FE, Afe 98 3 64 HoHfo HET 7
Options:

72 cm

72 HoHo

74 em
74 HoHlo

=

S cm

75 HoHlo

381 em

81 HoHlo

Question Number : 67 Question Id : 5431078498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The difference between compound interest and simple interest at the same
annual rate on Rs 5,000 for 2 years 1s Rs 72. The rate of interest per annum 1is :

[

5,000 %0 W 2 9 H TAhglg SATH IR HYUNT A HI A< 72 Fo 7§ FdiH
MY =T & 9 21 Ui 99 SATs e B8

Options:
6%
..

8%
z.

10%
>,

12%
4,

Question Number : 68 Question Id : 5431078499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The area of a rhombus is 2016 cm? and its side is 65 cm. The length of its
diagonals are :

-

Uk HEEqHS HI SF%A 2016 o HoHle AU SHHI UH HAI 65 HoHio E| IH®
Options:

125 em, 35 cm

, 125 Hofo, 35 Hofio

126 em, 32 em

5126 HoHte, 32 HoHio

132 cm, 26 cm
, 132 HoTfo, 26 HoHlo

135 em, 25 cm

, 135 Hotflo, 25 HoHlo

Question Number : 69 Question Id : 5431078500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

It was Sunday on January 1, 2006. Find the day on the week on January 1,
2010 :

FAE 1. 2006 @ Taar 91| F9a 1. 2010 I 90E &1 &H-971 feq Bme
Options:

Sunday

TfeEm

i

Saturday

EIECIE

2,

Friday

R L



Wednesday

4 R

Question Number : 70 Question Id : 5431078501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A clock 1s started at 12 noon. By 10 minutes past 5. the hour hand has turned
through :

by [ o=

12 &4 7 § 981 9oF I w8l 5 "9 10 He W 99 arel g3 gaT
Options:

145"
1.

150°
2.

155°
=

160°
4,

Question Number : 71 Question Id : 5431078502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

How many times are the hands of a clock at right angle in a day?

Uhicd H =8l @l FA1 IH H foha+] o HEHT SAEA 7
Options:

22
1.

24
Z.

44
3

48
4,

Question Number : 72 Question Id : 5431078503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



The missing number in the series is

el TE W == B
0. 3, 4,4,6,8, 5 12, 16

Options:

8
i

o

10

I |

Question Number : 73 Question Id : 5431078504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The next number of the series is :
SOt # e T2 B
9.2 F.9. 16, 25000

Options:
41
1.

31
z.

Question Number : 74 Question Id : 5431078505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The value of 14% +15% + - +30% = is :
142 +15% + -+ 302 = P T B
Options:

i 3836



2.833&
8366
>,

4.863b

Question Number : 75 Question Id : 5431078506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The value of (13 +2% +3% +---315%)— (1 +2+ 83+ - +15) === is |

B 48% 188 157 - (1404 8+ I8 = REHI BT
Options:
, 12280

13280
2.

3.14280

4.14400

Question Number : 76 Question Id : 5431078507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The sum of all odd numbers between 100 and 200 is

100 997 200 < o= o fawm F@ms = am =m
Options:

, 3750

E_bQDG
S_ESDD

4.?500

Question Number : 77 Question Id : 5431078508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If a # b, then which of the following statements i1s true?

Ie a=b, 91 9§ 8§ :H-91 FYT 99 B7?

Options:
a—+b —
= ab
.. 2
o+ o
: vab
z.
a+b s
> ab
=

All of these

Question Number : 78 Question Id : 5431078509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which term of the series 72 + 63 + 54 + --- 18 zero?

it 72 + 63 + 54 + -~ I HIA-HT UE IH BN ?
Options:
8th

847
1.

9th

od]
=z,

10th

1041

11th

1147



Question Number : 79 Question Id : 5431078510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

( 1 X 4 1
The sum of |1+ —+—+—=+— ) 18
\ x 4 8 16
:_l_l_l+l_i— f!: ------ q’Tl-j;h_rl-?qll
2 4 8 16 /
Options:
2
1.
4
2.
3
=,
o)
4,

Question Number : 80 Question Id : 5431078511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The average of two numbers i1s xy. If one number is x, the other number is :
af o FENI & e xy 8l qAG TH T x &8, 91 gl T Bl

Options:

Y

g, &

5 | 2x1 — x)

4 Xly-1)

Question Number : 81 Question Id : 5431078512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



: V001 ++/0-0064
0-01%0-3

The value o = ceenes 18

J0-01++0-0064 ;
0.01x0-3 '
Options:
1

i

10
z.

100
o

1000
4.

Question Number : 82 Question Id : 5431078513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FopNEre=a p o netash p o sath-f
[ { X7 | ;
The value t:ufl—ﬂ sl =) I—bl s 15
L™ LX) ol
|'. ‘-;b ~._Ib—c—a II.- o ~._Ic—a—b F . -.la—b—-: )
= | = -"—b| e F TH BT :
| x€ ) | %2 ) | )
Options:
1
1
e
2.
a-b+c
27
ab+bc-ca
4

Question Number : 83 Question Id : 5431078514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The ratio between two numbers i1s 5: 7, if their LCM 1s 140, the numbers are :

B

& AU H 5:7 % 39 H &, AG IR doHodo (LCM) 140 &, A HEAW &



Options:
10, 56
1.

20, 28
20, 70

23, 35

Question Number : 84 Question Id : 5431078515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A man leaves half of his property to wife, Zth of his son and remaining divide
equally to his two daughters, if the share of each daughter is Rs 10,000, The
share of his son 1s
FAT SFT St § SUSl-SiEl §9i¢ odl 8, Al Ucded oISl o [BFET 10,000 %o B,
al &g * fewEn oAt 27
Options:

Rs 20,000

) 20,000 %o

Rs 10,000

> 10,000 %o

Rs 40,000

3 40,000 %o

Rs 30,000

4 30,000 %o

Question Number : 85 Question Id : 5431078516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question



Price of commodity has increased by 60%, by what percent must a consumer
reduce the consumption of the commodity so as not to increase the
expenditure?

SUATE god 60% §¢ T o HAV, ITHRRT AW @9 fhad ufava =@ g fh sme
Td A 987
Options:

60
e

30
z.

373

Question Number : 86 Question Id : 5431078517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Manisha is able to do 40% more work than Neetu in the same time. If Manisha
can do a certain piece of work in 60 days, then in how many days will both do
the work together?

UF E WAF H AW, A H 40% 39 wW R =l Alg "EW fEET BH B
60 fed @ Q@ wedl @, af IH bW H1 gHT (WA qur Hiq) faerRt fhed et # owm
AT ?
Options:

40 days

_401%?

1

36 days

36 fed
2.

45 days

3.—15 Te-d



35 days

4 39 Tad

Question Number : 87 Question Id : 5431078518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The cost of house to be constructed i1s estimated Rs 3.60,000. The architect
asked for his fee as 5% on the first two lacs and 3% on the remaining cost. What
1g fee of architect?

Uk T S99 I IEATHA @R 3,60,000 %o &| 3fhede T AW I A
TUH 2 W@ %o A% 5% 47 JAYY W 3% T & H FAMl &, a1 IAlhede i HiF
Teherdl 27

Options:

Rs 4,800

. 4,800 %o

Rs 5,000

0
o 2,000 %

Rs 14.800
5 14,800 %o

Rs 18,000

4 18,000 %o

Question Number : 88 Question Id : 5431078519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

By selling a table for Rs 330, a trader gains 10%. The cost price of table is :
330 %o H Uh o¢gcl o9 W AN Hl 10% 1 ¥ @1 &, a1 <gd Hl HIA
=

L&

Options:



Rs 300

300 %o

Rs 270
270 %o

Rs 363

363 %0

Rs 290

290 %o

Question Number : 89 Question Id : 5431078520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

An article 1s sold at a profit of 20%. Had it been sold for Rs 60 more, the profit
would have been 30%. The cost price 18 :

fpedt a%q =1 20% % W W 9= AT 81 e W 60 Fo fuw H wEm T
BT, d 30% 1 o9 Era1| 9% H HALd T 27

Options:
Rs 300

. 300 %o

Rs 450

> 450 %o

Rs 600

600 %o
o

Rs 800

4 800 %o

Question Number : 90 Question Id : 5431078521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Padam invested Rs 30,000 in a finance company and received Rs 39,930 after
11 years. What is rate of interest per annum compounded half-yearly?

TCH UH HIEHE FOHT § 30,000 Fo FHI HAT 2 HE 11 I &€ 39,930 Fo WH

AT 2| =ATH 1 €1 A9 FirAu, Afe =S IFdie SIS e H Ut BHTEN BATAT B
2l

Options:
20%
1.
10%
2.
25%
3
16%
4,
Sec [V Language English
Section Id : 543107121
Section Number : 4
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107159
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 5431078522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the given

bold word.

Gregarious
Options:

Sociable
1



Thanlkful
o

4 Gratifying

Oppressive

Question Number : 92 Question Id : 5431078523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word nearest in meaning to the given
bold word.

Cherish
Options:
Rebuke

Discuss
Sing
Nurture

Question Number : 93 Question Id : 5431078524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word nearest in meaning to the given
bold word.

Chaos
Options:
. Defect

Utility
2

Disorder



Injury
4.

Question Number : 94 Question Id : 5431078525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Select the word nearest in meaning to the given
bold word.

Diffidently

Options:

Hurriedly
e

Humbly
Z.

Gradually
ik

Differently
4.

Question Number : 95 Question Id : 5431078526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Select the word opposite in meaning to the given

bold word.

Humdrum
Options:

Superficial
1.

Exciting
z.

Internal
iz

Creative
4



Question Number : 96 Question Id : 5431078527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word opposite in meaning to the given

bold word.
Potent

Options:

Sturdy
1.

Fragile
z.

Boastful
=

Blunt
4.

Question Number : 97 Question Id : 5431078528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word opposite in meaning to the given

bold word.
Gluttony

Options:

Satisfaction
1=

Intimacy
z.

Cleverness
iz

Recreation
=y

Question Number : 98 Question Id : 5431078529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Select the word opposite in meaning to the given
bold word.

Murky
Options:

Unclear
1.

Latest
o

s Cheerful

Chaste
4.

Question Number : 99 Question Id : 5431078530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word which can be substituted for the
given group of words.

A man of unusual habits :

Options:

Rogue
1

Egoist
L

Epicure
ik

Eccentric
4

Question Number : 100 Question Id : 5431078531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the word which can be substituted for the
given group of words.

An eater of flesh :



Options:

Omnivore
1.

Carnivore
b

Herbivore

Insectivore

Question Number : 101 Question Id : 5431078532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label ; Multiple Choice Guestion

Select the word which can be substituted for the
given group of words.

A man whose wife 1s dead :

Options:

Widow
1.

5 Widower

Bachelor
=

Loner
4,

Question Number : 102 Question Id : 5431078533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the word which can be substituted for the
given group of words.

Actuated by greed of money :

Options:

Flummery
e



Monetary
il

Mercenary
3.

Salty
<.

Question Number : 103 Question Id : 5431078534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blank with the best option.
He just spat on the ground and — digging.
Options:

recommenced

1.

recommended
X

recompensed
>,

recreated
4.

Question Number : 104 Question Id : 5431078535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blank with the best option.
Water is flowing ——— through a hose.

Options:
ot

into

above



over

Question Number : 105 Question Id : 5431078536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Fill in the blank with the best option.

I have nothing to say on this

Options:

hand
1

mouth
b

face
=

head
4,

Question Number : 106 Question Id : 5431078537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Fill in the blank with the best option.

There i1s no — for a disaster of this scale.

Options:

precedent
1.

precedence
Z.

president
3.

presidium
.

Question Number : 107 Question Id : 5431078538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Fill in the blank with the correct preposition.

He comes ——— a noble family.

Options:

o1
1.

with

Question Number : 108 Question Id : 5431078539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Fill in the blank with the correct preposition,
We have a hohiday ——— Christmas.

Options:

at
1

in
durin
3 g

upon

Question Number : 109 Question Id : 5431078540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Fill in the blank with the correct preposition.

He will be here ——— Monday next.

Options:
since

from
zZ.



for

with
4

Question Number : 110 Question Id : 5431078541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blank with the correct preposition.

You must be back ——— 5 O'clock.

Options:
] within

Question Number : 111 Question Id : 5431078542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the blank with the correct option.
He i ——— university professor,

Options:

an
1.

the
2.

no article

Question Number : 112 Question Id : 5431078543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



Fill in the blank with the correct option.
He has left for his heavenly —

Options:
1 residence

home
2.

3 domicile

abode
4

Question Number : 113 Question Id : 5431078544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fill in the blank with the correct option.
Radha ——— the BA Examination in 2010.

Options:
] has passed

5 had passed
assed
, passe

have passed

Question Number : 114 Question Id : 5431078545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Fill in the blank with the correct option.
Who ——— the tail of a cow?

Options:
] did catch

, was caught



ht
5 caug

J had caught

Question Number : 115 Question Id : 5431078546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Choose the misspelled word from each group
given below.

Options:

Priviledge
1.

Comparison
Committee

Pneumonia
4

Question Number : 116 Question Id : 5431078547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the misspelled word from each group
given below.
Options:
Humane

Riverine
. Archeaology

Modal
4,

Question Number : 117 Question Id : 5431078548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Select the part of speech of the underlined
words in the given sentences.

All the books on the table are mine.

Options:

Noun
1.
. Pronoun

Adjective
3

4 Determiner

Question Number : 118 Question Id : 5431078549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the part of speech of the underlined
words in the given sentences.
All the books on the table are mine.

Options:

Noun
Pronoun
2.
. Adjective

Determiner
4

Question Number : 119 Question Id : 5431078550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Identify the part of the sentence having an
error.

I and you (1) / have been best friends (2] / since 2001 (3)/
when we were admitted to a school. (4]

Options:



(1)

1.
> (2)
3. (3)
5

Question Number : 120 Question Id : 5431078551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Identify the part of the sentence having an
error.

He was bornl(l) / in 1965 at Ghazipur (2] / when the town was known for (3)/

its opium factory. (4]

Options:

, (1)

5 (2)

5 (3)

i §
()
sec IV Language Hindi

Section Id : 543107122
Section Number : 5
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 543107160
Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 5431078552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

geES TEl fREel = 27

Options:
PEInE

4?4131%:11?—?:

Question Number : 122 Question Id : 5431078553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion
i [ o = =

Ueldd = Id7dAT =hid ﬁf
Options:

1 r-r.-

et Harg AEH

2
4.

Question Number : 123 Question Id : 5431078554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Fa ™

el mifemy &1 “wmoign’ fFE a1 ST 27

Options:

1.

2.



GG

=

4 .'iﬂ‘"&_ll;l‘qﬁ hled

Question Number : 124 Question Id : 5431078555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

‘Tz *® AR

Options:

Question Number : 125 Question Id : 5431078556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Toqautaesr Tereshl =91 B7

Options:

Question Number : 126 Question Id : 5431078557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

" o AR Hid &7

Options:



Question Number : 127 Question Id : 5431078558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

= I i HIBM & Hid A8 27
Options:

1.

Question Number : 128 Question Id : 5431078559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

&=l &1 H99YH YHIyd 99 HE1 4T &

Options:
. 3G HIAs

2 :" L (m? 1 _.\, —

- e 9

Question Number : 129 Question Id : 5431078560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

"FAUTT R ArES fEER =T 27
Options:
. SEETET |y

> 1:1-. a4 1 ﬂ?m*-a

Snﬁea@:ﬁdﬂ

. TSR THTC

Question Number : 130 Question Id : 5431078561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Options:

[ ™y

. OEei 99e fgae]

. "iﬁr:l_i:! aq 119
, & & wae fgad

Question Number : 131 Question Id : 5431078562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

=0 d Hiq Hithahrel %1 Fid 981 27

Options:



EI-\.-‘; "

4.

Question Number : 132 Question Id : 5431078563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

L '_. Ff g ﬂa'_) = ﬁ
Options:

E_quﬁ

. ey el

Question Number : 133 Question Id : 5431078564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

‘T hdshl <kl whEM! TohEeh 1941 B 7

Options:

1%15:31

Al I
= :

[ 2 L, QL
, RIS A TE

Question Number : 134 Question Id : 5431078565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

4 H offeid MeasE & 'Y § ThEh! Ta81 27

Options:

| TS
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Question Number : 135 Question Id : 5431078566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Question
-a_ﬁ ?:_{ ' E '-'-r\ 2 -+ ?._ ?
Options:

LS qu_':-r"ﬂIdH

1.

2 ] \-- -.I"".

Question Number : 136 Question Id : 5431078567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

fafefga § o dewa wiee SiH-9T 87

Options:

Question Number : 137 Question Id : 5431078568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



SH H AoEH e g

Options:

Question Number : 138 Question 1d : 5431078569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

0 ¥ ‘fE w1 EEaE we g4

Options:

Bl
1.

Question Number : 139 Question Id : 5431078570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

79 W "El fgemreE gHa
Options:
g



Question Number : 140 Question Id : 5431078571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

‘TSE seTS 8§94 9 B 39 ol 39T 9%

Options:

o He
1. =

Question Number : 141 Question Id : 5431078572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

TH H Og A BT @ ®Y B

Options:
1 SR %
2 [ r;-. ]

. TESH-H FOFE T A

) A9 B

Question Number : 142 Question Id : 5431078573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

~

gl TE T % AU HE gEled @
Options:
| e S T
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Question Number : 143 Question Id : 5431078574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Options:
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Question Number : 144 Question Id : 5431078575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 145 Question Id : 5431078576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Options:
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Question Number : 146 Question Id : 5431078577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question
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Options:
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Question Number : 147 Question Id : 5431078578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Options:

Question Number : 148 Question Id : 5431078579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Options:

Question Number : 149 Question Id : 5431078580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
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Options:

Question Number : 150 Question Id : 5431078581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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